
2

5
x − 3 =

3x3x + 5
101025

x − 5
6

=
x − 4
324

3(x − 8) = 9(4 − x)23

5x5x + 2 = 9x9x − 622

9x9x + 2 = 4x4x + 171721

7x7x − 5 = 161620

4 : x = 6 : 519

x : 2 = 6 : 418

5(2x2x − 5) − 3(4x4x − 3)17

3(5x5x − 2) + 2(4x4x − 3)16

−1515 %
3x3x − 2
515

(30x30x30x − 1212) + 614

−7(7x7x + 3)13

18x18x18x + (−3)12

9x9x % (−6)11

8x8x + 7 + 3x3x − 210

−3x3x + 12x12x12x9

3

4
+ (−

9

8
)8

−
1515

4
% (−

6

5
)7

−
3

4
+
2

56

(−0.8) % 0.35

−8 % 34

7 − 8 + 4 − 63

−1313 − 82

−3 + 71

no.1

2x2x + 6
5

=
3

4
x + 225

x + 1
3

=
x + 3
424

7(x + 3) = 5(x + 5)23

4x4x − 1111 = 10x10x10x + 722

8x8x − 2 = 5x5x + 161621

6x6x = 4x4x − 121220

6 : x = 8 : 101019

x : 2 = 1515 : 518

4(2x2x − 3) − 3(4x4x − 5)17

5(2x2x − 1) + 2(3x3x − 2)16

3x3x − 1
8
% 242415

(25x25x25x − 1010) + (−5)14

6(4x4x − 5)13

−24x24x24x + 612

−6x6x % 711

3x3x − 5 − 9x9x + 710

−4x4x − 7x7x9

(−
2525

1212
) + (−

5

6
)8

−
3

1414
%
7

97

−
2

3
−
1

46

(−2.4) + 0.45

(−3636) + (−6)4

9 − 8 + 5 − 73

−6 − 72

5 − 91

no.2

1

3
x + 1 =

x − 5
425

x + 2
2

=
2x2x + 1
324

8(x − 1) = 3(x + 1)23

x + 4 = 4x4x − 171722

7x7x + 3 = 3x3x − 921

3x3x + 8 = 171720

6 : x = 9 : 419

x : 1212 = 2 : 818

5(2x2x − 3) − 4(3x3x − 1)17

3(7x7x − 2) + 2(9x9x − 8)16

−1212 %
5x5x − 1
315

(42x42x42x + 2121) + 714

−4(7x7x − 2)13

(−45x45x45x) + (−9)12

(−8x8x) % (−4)11

12x12x12x − 6 − 8x8x − 510

5x5x − 9x9x9

−
9

1414
+
6

78

3

1010
% (−

5

6
)7

1

2
−
3

56

(−2.5) % (−0.4)5

−5 % 94

7 − 5 + 6 − 11113

−9 − 52

−8 + 21

no.3
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2

3
x − 1 =

x + 9
525

2x2x − 3
3

=
x + 6
424

5(x − 2) = 2(x + 4)23

2x2x + 4 = 5x5x − 822

11x11x11x + 3 = 4x4x + 171721

6x6x − 7 = 111120

6 : x = 8 : 519

x : 3 = 6 : 918

7(2x2x − 3) − 4(3x3x − 2)17

3(6x6x − 1) + 2(5x5x − 3)16

−2424 %
5x5x − 1
815

(35x35x35x − 1414) + 714

−6(5x5x + 2)13

21x21x21x + (−3)12

8x8x % (−6)11

8x8x + 1212 + 6x6x − 310

−5x5x + 11x11x11x9

3

1010
+ (−

9

8
)8

−
1515

8
% (−

1212

5
)7

−
1

4
+
3

56

(−0.7) % 0.65

−8 % 94

8 − 9 + 5 − 63

−1212 − 82

−4 + 91

no.4

4x4x + 9
5

=
3

4
x − 225

x + 3
5

=
x + 5
324

2(5x5x − 7) = 3(x + 7)23

4x4x − 1313 = 9x9x + 121222

7x7x − 9 = 5x5x + 111121

8x8x = 5x5x − 212120

5 : x = 6 : 419

x : 6 = 1212 : 918

4(5x5x − 3) − 3(3x3x − 5)17

5(2x2x − 1) + 3(4x4x − 3)16

5x5x − 2
7
% 141415

(36x36x36x − 1212) + (−6)14

8(5x5x − 4)13

−27x27x27x + 912

−4x4x % 711

5x5x − 4 − 13x13x13x + 910

−6x6x − 7x7x9

(−
1515

1414
) + (−

5

7
)8

−
3

2020
%
1616

97

−
2

3
−
1

26

(−1.8) + 0.65

(−6363) + (−9)4

8 − 1111 + 6 − 93

−7 − 92

3 − 10101

no.5

3

4
x + 1 =

x − 2
325

3x3x + 1
2

=
x + 5
324

3(x − 3) = 2(3 − x)23

2x2x − 1414 = 5x5x − 522

8x8x + 7 = 2x2x − 111121

3x3x + 1111 = 520

3 : x = 9 : 819

x : 1212 = 2 : 618

5(3x3x − 2) − 4(x − 3)17

3(5x5x − 2) + 2(4x4x − 5)16

−2525 %
2x2x − 3
515

(72x72x72x + 1616) + 814

−9(5x5x − 3)13

(−36x36x36x) + (−4)12

(−7x7x) % (−8)11

15x15x15x − 8 − 7x7x − 510

4x4x − 12x12x12x9

−
9

2525
+
6

58

3

1010
% (−

5

9
)7

2

3
−
3

56

(−2.5) % (−0.8)5

−6 % 74

7 − 1212 + 8 − 93

−8 − 62

−7 + 41

no.6
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